BTN ANGLALIS LV1. SESSION 2012 STI, STL.
CORRIGE / BAREME ‘SMOKING’

(TOTAL DE LA COMPREHENSION: 24 POINTS A DIVISER PAR 2)

I - GENERAL COMPREHENSION

Write down the correct answer. (4 points : 4x 1)

A- 1) a newspaper.

B- 2) the UK.

C- 3) forbidding under-18s from seeing people smoking in films.
D- 2) a future ban

II - DETAILED COMPREHENSION
‘ Ne pas sanctionner ’oubli des guillemets et/ou des numéros de lignes ‘

A- The following statements are WRONG. Correct them by quoting the text. (5 x I= 5 points)
1) L 7 “... but could affect older films...”
2) L 11 .. historical characters...”

3) L 15 “The British Board of Film Classification is generally responsible for
classifying films.”

4) L 25 ... notify the council 21 days in advance...”
5) L28 “It is not the role of town halls to act as puritanical thought police...”

B- Say whether the following statements are RIGHT or WRONG. Justify by quoting the text. (5x I = 5 points; 1
point ou 0)
1) Wrong - L5 “Such titles include Disney’s classic 101 Dalmatians cartoon ...
holder.” Accepter aussi: L 7 “... but could affect older films such as Disney’s
Peter Pan...”

2) Wrong — L 17— 18 “... ban Monty Python’s Life of Brian in 1979 for blasphemy.”
3) Wrong — L 21 “- seven per cent higher than the national average-”

4) Right — L 29 -30 “Parents are most concerned about knife crime and violence
(being glamorised).

5) Wrong — L 31 -32 ““... newsagents which peddle alcohol and cigarettes to teenagers
and kids.”

C- Who or what do the underlined words refer to? (5 x 1 = 5 points)
1) L 7— older films
2) L 11 — Winston Churchill
3) L 11 —any films — Accepter L 13 the only others
4) L 24 — cinemas (and any other premises)
5) L 29 - films

D- Find in the text the synonyms for (5 x I = 5 points)
1) L 1 depict
2) L 22 take up
3) L 25 intend to
4) L 31 focusing
5) L 34 responses
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III- EXPRESSION ECRITE : 16 points a diviser par 2

LES DEUX SUJETS SONT OBLIGATOIRES

- 80 mots : 6 points

- 120 mots : 10 points

STI / STL 16 points

80 mots 120 mots : 10
6 points points
Respect de la consigne, nombre 0,5 0,5
de mots
Enchainement et cohérence des 2 4
idées
Correction grammaticale 2 3
Richesse lexicale 1 2
Bonus (prise de risque) 0,5 0,5

12ANTEME3/LR3/AG3C

Page : 2/4



BTN ANGLAIS LV1. SESSION 2012 ST2S ET STG
CORRIGE / BAREME SMOKING

(TOTALDE LA COMPREHENSION : 20 POINTS A DIVISER PAR 2)

I - GENERAL COMPREHENSION

Write down the correct answer. (4 points : 4 x 1)

A- 1) a newspaper.

B- 2) the UK.

C- 3) forbidding under-18s from seeing people smoking in films.
D- 2) a future ban

II - DETAILED COMPREHENSION

‘ Ne pas sanctionner ’oubli des guillemets et/ou des numéros de lignes

A- The following statements are WRONG. Correct them by quoting the text. (5x 0.50 = 2.5 points)

1) L 7 “... but could affect older films...”

2) L 11 “.. .historical characters...”

3) L 15 “The British Board of Film Classification is generally responsible for
classifying films.”

4) L 25 “... notify the council 21 days in advance...”

5) L28 “It is not the role of town halls to act as puritanical thought police...”

B- Say whether the following statements are RIGHT or WRONG. Justify by quoting the text. (5 points :
5x Ipt ; 1 point ou 0))

1) Wrong - L5 “Such titles include Disney’s classic 101 Dalmatians cartoon ...
holder.” Accepter aussi: L 7 “... but could affect older films such as Disney’s
Peter Pan...”

2) Wrong — L 17— 18 “... ban Monty Python’s Life of Brian in 1979 for blasphemy.”

3) Wrong — L 21 “- seven per cent higher than the national average-”

4) Right — L 29 -30 “Parents are most concerned about knife crime and violence
(being glamorised).

5) Wrong — L 31 -32 ““... newsagents which peddle alcohol and cigarettes to teenagers
and kids.”

C- Who or what do the underlined words refer to? (4 points)

1) L 7 — older films (1 point)

2) L 11 — Winston Churchill (0.50 point)

3) L 11 — any films — Accepter L 13 the only others (0.50 point)
4) L 24 — cinemas (and any other premises) (1 point)

5)L 29 -films (1 point)
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D- Find in the text the synonyms for (5 x 0.50 = 2.5 points)

1) L 1 depict

2) L 22 take up
3) L 25 intend to
4) L 31 focusing
5) L 34 responses

E- Write down the correct answer. (2 x 1 =2 points)

1) a) wants to control minds and behaviour.
2) a) Liverpudlians will be asked to give their opinion.

III- EXPRESSION ECRITE : LES DEUX SUJETS SONT OBLIGATOIRES
(20 points a diviser par deux)
- 80 mots : 8 points

- 120 mots : 12 points

STG / ST2S 20 points

80 mots : 120 mots :

8 points 12 points
Respect de la consigne, 0,5 0,5
nombre de mots
Enchainement et cohérence 3 5
des idées
Correction grammaticale 2 3
Richesse lexicale 2 2
Bonus (prise de risque) 0,5 1,5
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